Efficiency vs dr

=
N

efficiency vs AR

o
[e))
LALL Y L B L B L L L B |

[y
TTTT] T T

[ fake+duplicates vs AR |

o 0.0
<
©.009
$.008
9.007
%
D.006
o
3.005
+
%.004
"0.003
0.002
0.001

mu_ptlto1000_eta2p0to2p5

—=— DQM_correctCheck_mu_pt1to1000_eta2p0to2p5

_| —— DQM_original_1

=
o

-1

1072

1
w

1
TP min AR

[ Efficiency vs dr (track,jet) |

EO.OS
d0.045
£
o
<l0.04
9.035
3
=0.03
Q
359.025
3]
0.02
0.015
0.0
0.005
Vel

Ratio
N

0.95

=
S
w

1072 1
AR(TP, jet)

Efficiency vs pu

-0.05
o

9.045
30.04

Q F
'®.035F
b=

®0.03

2 4 6 8 10 12 14 16 18 20
Pileup

-1

101 o1
track min AR

1072

[ fake+duplicates vs AR(track, jet) |

0.0,
ko)
~9.009
(&)
H.oos
%.007
2]
D.006
$.005
3
%©.004
L
8.003
©
$.002
X
.00

Ratio

1072 107"
AR(track, jetgJ

[ fake+d

uplicates vs PU |

5 0.0

o : : : :
D009 L o
B.008F -+ e e
O o oo
T H H H

D.00BF -+ ek o oo
a : : :

B.005F - e P e
+ : : :

0045 oo oo oo froseees
0.008F- e wbeseneeees o oo
0.002f+++++++emeeeees poeeees e e
Y57 R S SRR R

el
= N
(U -
24 C
0.5
o

q_....




	Contents
	Page 1


